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The answers table:

Questions Answers Points Score
1 A B C D 1
2 A B C D 1
3 A B C D 1
4 A B C D 1
5 A B C D 1
6 A B C D 1
7 A B C D 1
8 A B C D 1
9 A B C D 1
10 A B C D 1
11 A B C D 1
12 A B C D 1
13 A B C D 1
14 A B C D 1
15 A B C D 1
16 A B C D 1

Total 16

Name :
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1.
cosh (ln x) =

A.
x2 − 1

2

B.
1− x2

2x
C. 1

D.
x2 + 1

2x

2.
sinh (− ln x) =

A.
x2 − 1

2

B.
1− x2

2x
C. 1

D.
x2 + 1

2x

3.
sinh x− cosh x =

A. ex

B. e−x

C. −e−x

D. −ex

4.
cosh2 β − sinh2 β =

A. 1

B. −1

C. eβ

D. e−β
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5.
cosh−1 1 =

A. 1

B. ex

C. e−x

D. 0

6.
sinh−1 e =

A. 1

B. 0

C. ln (e +
√

e2 + 1)

D. ln (e +
√

e2 − 1)

7. If y = cosh (x2), then y′ =

A. −2x sinh (x2)

B. −2x cosh (x2)

C. 2x cosh (x2)

D. 2x sinh (x2)

8. If y = ln (cosh (x2)), then y′ =

A. −2x tanh (x2)

B. −2x coth (x2)

C. 2x tanh (x2)

D. 2x sinh (x2)
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9. If y = cosh−1 (cosh (3x)) , x > 0, then y′ =

A. 3

B. − 3 sinh (3x)√
cosh2 (3x)− 1

C. 0

D. −3

10. If y = tanh2 (x2), then y′ =

A. −4x tanh (x2)

B. 4x sech2 (x2) tanh (x2)

C. sech2 (x2) tanh (x2)

D. sech3 x + sech x tanh x

11. ∫ √
tanh x sech2x dx =

A. 2
3
tanh

3
2 x + C

B. tanh x sechx + C

C. 1
2
ln |1 + sechx|+ C

D. sechx + C

12. ∫
tanh x dx =

A. − ln (cosh x) + C

B. ln (sinh x) + C

C. ln (| cosh x|) + C + C

D. ln (cosh x) + C
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13. ∫
ex

√
e2x − 9

dx =

A. sinh−1 ( ex

3
) + C

B. cosh−1 ( ex

3
) + C

C. 2
3
(e2x − 9)

3
2 + C

D. sin−1 ( ex

3
) + C

14. ∫
1√

x2 + 9
dx =

A. ln |x+
√

x2+9
3

|+ C

B. ln |x−
√

x2+9
3

|+ C

C. tan−1
(

x
3

)
+ C

D. sin−1
(

x
3

)
+ C

15.
lim

x→∞
[cosh−1 x− ln x] =

A. −∞
B. 1

C. ln (2)

D. does not exist.

16.
lim

x→∞
tanh x =

A. −∞
B. 1

C. ln (2)

D. does not exist.
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